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- I/PART -1
EIG| F&m uat foreror fafer
CHILD DEVELOPMENT AND TEACHING METHOD

ieer e # Rred gl 2 7 1. Kohler is associated with which of the
(1) iRron ¥ Rrgr following ?

2) e ¥ frgra (1) Theory of Motivation

heory of Learning

3} e ¥ g sy

(41 : % (3) Theory of Personality

*) e (4) Theory of Development

AT 3 SN et St < e gk 2. According to McDougall the number of
(1) 15 instincts are

(2) 10 (1) 15

3) 12 (2) 10

(3) 12

(4 14 (4) 14

AR e e =it v e 3 ) R 3. Brainstorming Model of Teaching is
e %‘gl, frrsTare ? used to improve which of the following ?
(1) @1e (1) Understanding

(2)e THET GHTET (2) Problem solving

(3) FSHTHSRAT (3) Creativity

(4) g (4) Application

T 7 forerss s ‘e’ e Rt o ? 4. ‘Dog’ was the experimentee in whose
(1) &P experiment ?

3 (1) Skinner

@) . (2) Kohler

(3) ueTE® (3) Thorndike

(4), &S (4) Pavlov

Hifererar, Tetarar an yare o= 4 frges 5. Originality, flexibility and flow are the
"HeFH S ? components of which of the following ?
(1) 31’?“,: (1) Intelligence
(2) fron (2) Motivation
(3) afdaea (3) Personality
(4) GSHTCHeRAT (4) Creativity
RIS 6. Combat is
(1) T 5fa (2) fo=m (1) Instinct (2) Thinking
(3) (4) gam (3) Imagination (4) Emotion
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() ;Taﬁﬂﬁrmﬁmﬁmuaﬂ

(3) g faera o fyay
(4) Hﬁqﬁﬁﬁmaﬂﬁw

FICIRE 5 & - fckrer 37 R i 2 7
(1o STFERfTA Tearads Rgrey

(2) "9 e =5 frerm

(3) WEREY 1 Ry

(4) T T = fagm

"o % oo ey T fRisivand siv T
I TR B & I8 Ifemy
(1) &=

(2p ST AR B

(3) Wfsy

(4) TeH

T4 399 % YR T a1 il A TqH FEl

FEATIT &
(1) e

(3)

e yarg @ vol & fard & giie
fope foran 7

(1) wHrEeR (2) MeRE

(3) YHeTEH (4)-ME=E

(2), <A
(4) eaefreRTT
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7. Factors affecting the social development
of children are

(1) Economic elements
(2) Hereditary elements
(3) Physical elements

(4) Social environmental elements

8. Which of the following is a primary law
of Physical Development ?

(1) Law of difference from mental
development

(2) Law of relation from imagination
and emotional development

(3) Law of rapid growth
(4) Law of irregular development

9. Which of the following is not the theory
of development ?
(1) Theory of Conditioned Reflex
(2) Theory of Uniform Pattern
(3) Theory of Interrelation ~
(4) Theory of Continuous Growth

10. “Development results in new
characteristics and new abilities” this
statement is given by
(1) Gessell
(2) Douglas and Holland
(3) Meredith
(4) Hurlock

11. Giving meaning to sensation on the

basis of past experience is called
(1) Imagination (2) Thinking
(3) Memory (4) Perception

12. Who has propounded the law of trial
and error of learning ?

(1) Kohler (2) Gestalt
(3) Thorndike (4) Pavlov

PO,
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15.
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it gf a1t et g e s A
(1) 70-79

(2) 110-114

(3)» 90 - 109

(4) 80-89

B 8 8 =i e e afz 3w
e & ? ®

(1p *ew

(2) ferm

3) ==

(4) giteE®

o g st g =t whtaren R
(1) &

(2p fEmt

(3) ¥me

(4) e

o fiie et & forerent wemaqul wew & 7
(1) e Fmior
(2) ulteror 37T
(3) wigw gy
(4) udieror duen

forenrer <6t weeiforam avareen e o e R o 2
(1) g/

(2) ferrt

(3) Eew

(4) Tt

. 9. . o1, wheror 1 3w = | fras
A A R smar @ 7

(1) =fFaa

(2) GSTTcHbAT

(3p T

(4) Ff&

Paper-1/C

13.

14,

15.

16.

17.

18.

GET IT ON
Google Play

L.Q. Level of average intelligence
children will be between

(1) 70-79

(2) 110-114

(3) 90-109

(4) 80-89

Who among the following has proposed
Fluid Mosaic Model of Intelligence ?
(1) Cattell

(2) Skinner

(8) Vernon

(4) Thorndike

Operant Conditioning Theory is
propounded by

(1) Hull

(2) Skinner

(3) Hegarty

(4) Thorndike

Blue print is an important component
of which of the following ?

(1) Test construction

(2) Test scoring

(3) Test administration

(4) Test validation

Pre-operational stage is the stage of
development proposed by

(1) Bruner
(2) Skinner
(3) Kohler
(4) Piaget

M.P.P.L. is a test used to measure which
of the following ?

(1) Personality
(2) Creativity

(3) Achievement
(4) Intelligence
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(3) SIHai ® Wi & 2ea &
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(1)g ST <ieit

(2) =

(3) fererdfeen

(4) T

Frafafas o of=ml & snun =fe & (e
TRl <Rt Tt foRa I B 7

(1) TR
(2) V=R
(3) &
(4) 9

“gerTeReR Hiforeh gl st stfirerEd F
6wt afFa R | T FE R

(1)e e T S Al

(2) TG

(3) Srema

(4) e
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19.  Which of the following is most essential
for learning ?
(1) Motivation
(2) Guidance
(3) Maturation
(4) Interest

20. The period of infancyhood is

(1) From 12 years to 18 years
(2) Upto 15 years

(3) From birth to 6 years

(4) From birth to 2 years

21. Through his experiment Kohler wanted
to prove that learning is

(1) The perception of whole situation

(2) Human learning is purposeful

(3) Better in animals than human
beings

(4) An independent activity

22. Who propounded ‘Five Step System’ of
lesson planning ?
(1) John Dewey
(2) Bloom
(3) Kilpatrick
(4) Herbart

23. Who described different types of

personality based on Glands from the
following ?
(1) Kreshmer
(2) Sprangar
(3) Cannon
(4) Jung

24. ‘Creativity is a mental process to
express the original outcomes’ - the
statement is of
(1) Cole and Bruce
(2) Crow and Crow
(3) Dehan
(4) Drevahal

[P.T.O.
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(2) =T 5 e 3 werey
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FRF UM R T F

(1) SR

(2)o AFITA

(3) W&

(4) TaH
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(2) gead

(3% TE
(4) e

g

12999 16 I Harerhi og et o o1, wg. sl
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(3) i arew e

(4) TTUR AT At Ter
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(3) T (4) s
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According to B.F. Skinner language

development in children takes place

(1) As an outcome of inborn
capability .

(2) As an outcome of training in

grammar
(3) As an outcome of imitation and

reinforcement .
(4) As an outcome of maturity
Instincts are classified in fourteen
types by
(1) Drever

(3) Thorndike

(2) Woodworth
(4) McDougall

‘Attention is the concentration of
consciousness upon one object rather
than upon another’ this statement is
related to

(1) Dumvile

(2) McDougall

(3) Munn

(4) Ross

Whose name is associated with ‘Father
of the Eugenics’ from the following ?

(1) Crow and Crow
(2) Woodworth

(3) Ross

(4) Galton

Which test is propounded by
Dr. S. Jalota in Hindi for the
children of 12 to 16 years ?

(1) Non-verbal Intelligence Test
(2) Picture Drawing Test

(3) Army Alfa Test

(4) General Mental Ability Test

Who propounded the ‘Two Factor
Theory’ of intelligence ?

(1) Thorndike (2) Stern
(3) Vernon (4) Spearman
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WOT ~ 11/ PART ~ III
W91~ 11 : 310t / Language - I : ENGLISH

What kind of adjectives are used in the
following sentence ?

* A live ass is better than a dead lion.

(1) Descriptive
(2) Quality

(3) Indefinite
(4) Quantity

Which of the following has been
misspelt ?

(1) deciduous
(3) governence

(2) entrance
(4) ambiguous

Pick out the correct synonym of the
word :

attenuate
(1) repent (2) make thin
(3) divide (4) force

Pick the sentence with the correct
conjunction :

(1) No sooner had we reached the
station but the train left.

(2) No sooner had we reached the
station and the train left.

(3) No sooner had we reached the

station when the train left.

(4)

No sooner had we reached the
station than the train left.

Pick out the suitable antonym of the
given word :

judicious

(1) imprudent

(2) careful

(3) silly

(4) sagacious

The meaning of the idiom

“to put out” is

(1) To postpone (2) To go out
(3) To extinguish (4) To wait

Paper - 1/C
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71.

The sentence : “This is the house in
which I was born”, is

(1) A simple sentence

(2) A compound - complex sentence
(3) A complex sentence

(4) A compound sentence

Fill in the blank :
“The objection was met out

the lawyer’.
(1) with (2) from
(3) by (4) to

Fill in the blank :

“  of playing, the children
went home”,

(1) Being tired
(3) Having tired

(2) While tiring
(4) On tiring

Join the following sentence to make a
simple sentence :

The coffee isn’t too strong. It won't keep
awake.

(1) The coffee isn’t too strong to keep
us awake.
(2)

The coffee isn’t too strong so as to
keep us awake.

(3) The coffee isn’t too strong so it won’t

keep us awake.

(4)

The coffee isn’t too strong and will
not keep us awake.

Complete the following sentence with
correct Conjunction :

he had not paid his bill,
his electricity was cut off.

(1) But
(2) As
(3) Unless
(4) Either

[P.T.O.
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Choose the correct figure of speech in
the following sentence

Death lays his icy
(1) Metaphor
(3) Apostrophe

hand on Kings.
(2) Simile
(4) Personification

Choose the proper sequence to complete
the following :

The guide said that

P. nowhere in the world

Q. a fajrer building

R. you will fing

S. than the Taj Mahal,

The proper S€quence should be :
(1) RQpPs (2) RQsp
@) PSOQR 4 PROS

Give the meaning of the following
proverb :

A bird in hand is worth two in a

bush.

(1) To catch two birds with your
hands.

(2) To trap birds in bushes.

(3) Itis better to be satisfied with what

you have than to try to get what is

not yours.

To be dissatisfied with what you

have.

(4)

Choose the correct option to complete
the sentence :

I him since we met a year
ago.

(1) didn’t see
(3) hadn’t seen

(2) not saw
(4) haven’t seen

Who are the earliest known inhabitants
of Antarctica ?

(1) American Scientists

(2) Itis has always been a desert

(3) Dinosaurs

(4) Indian Scientists
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Which of the following worq, is ,
Adverb ? E
(1) Apace (2) Fury

(3) Meek (4) Face

Fill in the blank with suitable Pronoyy,.
My son and my daughter are very fon,
of ‘

(1) herself

(2) himself

(3) themselves
(4) each other

Which of the following is an example o;
Metaphor ?

(1) Heisa big donkey.

(2) My heart leaps up when I behold a
rainbow in the sky.

The bitter-sweet memories of
childhood are a source of great
pleasure.

The face of the child is as soft as
the petals of a rose.

(3)

(4)

Choose the correct option :

Study of population is known as
(1) Ecology (2) Genealogy
(3) Demography (4) Astronomy

Transform the following into a Direct
sentence :

T asked Sheela if I might know her

father’,

(1) Isaid to Sheela,
father ?”

(2) I questioned Sheela, “Will I know
your father ?”

(3) Iasked Sheela, “
father ?”

(4) 1 told Sheela,
father ?”

“May I know your

Can I know your

“May 1 know your

\
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82. The idiom ‘To ring one’s own bell’
means
(1) to think properly
(2) toindulge in self praise
(3) to commit a theft
(4) to be one’s publicity agent

Direction - Read the passage below and answer
the questions that follow (Q. No. 83 to 90)
by selecting the most appropriate option :

The children of M. G. Vidyalaya, had a
wonderful time yesterday. They were captivated
by the speed, agility and showmanship of
magician, Kim Rathod. The children watched
him spell-bound for two hours. All that broke
the silence was a gasp of astonishment or the
sound of spontaneous applause, appreciating
a trick. Out of his magic wand came flowers,
ribbons and garlands of every possible colour
and seemingly unending length. It came in
such quick succession that everyone was left
gasping. One or two young children came
up to examine the thin stick wondering
how it could hold so much. They were really
frustrated. As if that was not magical enough
he made a rabbit pop out of an empty wooden
box. It went hopping around the stage. It was
soon put back into the box and seconds later,
he pulled out a rat, soft, white and squeaking.
The little ones seemed a little frightened by
this, while the others clapped and cheered
loudly. This was the grand finale.

The children did not want it to end. They
shouted ‘encore’, ‘once more’. But Kim gave
them a bright smile and vanished from the
scene. The children were left searching here
and there for him. Then they walked out
excitedly recounting what they had seen and
how wonderful it was. One of the boys Ravi
declared loudly, it was the best magic show
of the century.

Paper-1/C
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What does ‘encore’ mean ?
(1) Never (2) Now
(3) Once more (4) Try

What did Kim do in the end ?

(1) Performed the act once again
(2) Sat down

(3) Never performed the trick

(4) Smiled and disappeared

What does ‘Century’ denote ?
(1) A period of one year

(2) A period of hundred years
(3) A period of fifty years

(4) A period of ten years

What is the magician’s name ?
(1) M. G. Vidyalaya

(2) Kiran Rathod

(3) Kim Rathod

(4) Ravi

What is the meaning of ‘captivated’ ?
(1) Astonished

(2) Angered

(3) Arrested

(4) Honoured

What is the meaning of ‘spontaneous’?
(1) Happening suddenly
(2) Continuous

(3) Never

(4) Always

What is a ‘Wand’ ?

(1) Stick (2) Box

(3) Hat (4) Cloth
What is the meaning of ‘hopping’ ?

(1) Running
(2) Singing
(3) Standing
(4) Jumping

[ P.T.O.
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(3) 6.5%, 105 firft, 39 frfy
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92.

93.

94,

January 5, 1991 was a Saturday,
what day of the week was on
March 3, 1992 ?

(1) Saturday
(2) Tuesday
(3) Sunday
(4) Monday

med ORONSEN

(1) 11
P L
(3 2.

(4) 3

To construct a triangle, the possible
sides are

(1) 6cm, 3 cm, 3 cm

(2) 6.3 cm, 5.9 cm, 4.6 cm
(3) 6.5 ¢m, 105 mm, 39 mm
(4) 3.5 cm, 9.2 ¢m, 5.3 cm
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T ?
(1) 142
(2) 54
(3) 42
(4), 27
98. EE % A=A 1 AT I FIFA |
(1) 450°
(2) 540°
(3) 360°
(4) 180°

Paper - 1/C

¥
fs

19

GET IT ON
a7y Google Play

95.

96.

97.

98.

Arrange +/3,%4,45 in ascending
order,

(1) 3,44,95

(2) None of these
(3) ¥5,%a,43
(4 44,43,

Which measures of central tendency
get affected if the extreme observations
on both the ends of a data arranged in
descending order are removed ?

(1) Mean and Median

(2) Mode and Median

(3) Mean and Mode

(4) Mean, Median and Mode

A cube of side 5 cm is painted on all its
faces. If it is sliced into 1 cm?® cubes,
how many cubes of 1 cm?® will have
exactly one of their faces painted ?

(1) 142
(2) 54

(3) 42
(4) 27

Find the sum of all the interior angles
of a pentagon.

(1) 450°
(2) 540°
(3) 360°
(4) 180°

|P.T.0.
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17
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— (2)
330

(1}

330
7§

17

(3)
330

(4)
(7 +2V10) T afym 2
Q) (Ve+1)
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(4) (V3+2)
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is in the mud. When
_‘i of a pole1 > of

it is pulled out, an 8 meter long Piece
the pole still remains in the mud. W,
is the total length of the pole ?

(1) 21 metre

(2) 12 metre

(3) 30 metre

(4) 25 metre

A and B can do a piece of work i
12 days, B and C in 15 days, C an
A in 20 days. How long would A tak
separately to do the same work ?

(1) 10 days
(2) 40 days
(3) 30 days
(4) 20 days
14 42 21
R Gy == ]
of 33'55°22
(1 _7_ @ 239
330 17
(3) iiﬁ @ 17

330

Square root of (7 +2J10 ) is
(1) (\/6 + 1)

(2) (2+J§)
v5)

4
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(
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104. Frericifen ¥ Q 29w wem 90 2 R

Bt R ?

(1p 114345
(2) 3572406
(3) 913462
(4) 135792

105. nFIE?
(1) 9ia ge
(2) Ui

(3) STTT EEA
b (4) SToRHE TE&

106. 3fE 10% = 125 &1, @ 10-2* & HH &M
1 1
(1) = (2 o2
L 4) 25
(3) = (4)
107. 16075 1 fdl T@ & S0 37 T U
167 a1 STFE 43 I1 BT 8, Gl o g
(1) 76 (2) 86
8}, 96 (4) 56
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103. A square and an equilateral triangle

have a side in common. If side of triangle

is 4/ cm long, find the perimeter of the
figure obtained.

(1) g2cm
3

(2) glem
3

(3) 16cm
9

(@) 199[.?+1)cm

Which of the following numbers is
divisible by 99 ?

(1) 114345
(2) 3572406
(3) 913462
(4) 135792

Whatist ?

(1) Rational number
(2) Integer

(3) Prime number

(4) Irrational number

. 1f 10% = 125, then value of 10 is

1 1
M < @
@) - @) 25

16075 is divided by a number to give
quotient 167 and remainder 43, then
divisor is
(1) 76

3) 9% (2) 86

(4) 56
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(2) 331, wmy
33 2%
@) 33lowh
8
@) 33%%31’5!
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(1) 0
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The r;umhcr of positive prime Ity
<5018 , e
(1) 14 (2) 25

) 16 (4) 15

Twice the larger of two numberg fs¢

more than five times the smalle
the sum of four times the large,
three times the smaller is 71, Whg,

the numbers ?
(1) 43,8 (2) 17,1
(3) 14,5 4) 11,9

A square with a side of 8 cm anc
rectangle with length 16 cm hz
same area. What is the breadth of t
rectangle ?

(1) 4 cm (2) 12 cm
(8) 6cm (4) 8 cm

If cost price of an article is 3 of its

selling price, then profit or loss
percent is

(1) 33231—%proﬁt
(2) 33-%% profit

(3) 33%3_% loss

(4) 33 %% loss

When 121012 s divided by 12, th
remainder is

(1) o

(2) 4

0s 0
(4) 2 b %%

(4
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(1) 5.5 ( ’45
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IR “Rrereor s Ryt s Ry 51

(1} 3. U, frw
(3) T

(2) =&
(4) m3w

Amc%mﬁgmzn,ﬁz,l«“%lm

I 1 3 @ - e w2 7
A
F E

B D C
(1) A DEF % &3%d = A ABC 1 &%
2) ADEFEI%‘:IW-{:%AABCW

XL
(3) ADEFWE?IW=%AABC$I

&T%A
(4) A DEF &1 g% = LAnBCT
t dwa ?
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113. Digit of unit place in the product of
(378 x 236 x 459 X 312) is

(2) 4

4) 8

(1) 6
(3) 2

What will be the median of the given
data if the mean is 4.5 7
57,78,%543,1,2

(2) 4.5

(4) 6

114,

(1) 5.5
(3 S

115, Most important person, related with
the method of ‘Analysis of Variance’ in

Statistics
(1) R. A. Fisher
(3) Laplace

(2) Newton
(4) Gauss

116. D, E, F are respectively the mid
points of A ABC. Which of the

following statement is correct ?

A

B D C

(1) area (ADEF) = area (A ABC)

(2) area (ADEF) = -}farea (A ABC)

(3) area (ADEF) = % area (A ABC)

(4) area (ADEF) = "15.? area (A ABC)

23
| P.T.O.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

7

117,

118,

119,

120.

- T T S N T o e
= AN o o N0 e B el W L s Ny :
T w_._j&}'_..! ik Y }.;i'.‘}? (q R
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St ype
o, o

3w w1 et = A,
= G A wors ney = 1

M A<qasy
@) Asnusg
Gk A>asy
(4) AsGgH

T T T —
Sme’ﬁa-?ﬁmmewﬁ

(1)

(2)
(3)

(4)
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(1) =mivg
(2) gz
(3% #HifFara e
(4) o

ot o ot =it Shand a ey 660 m?3
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€ 11 m 8, T 30 T & e 2

(1) 200 m?
(2) 75 m?
(3), 100 m?
(4) 150 m?
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118.
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120.

%ggcéhie Play

nean of a giye,
Atjthpiatic meRT £ 4 4 dg
IliA Geometric mean = G and ”nrrn,,n

mean = H, then
(1) AsG2H
(2) AzH2G
(3) A2G2H
(4) AsG<H

The difference and the prod'uct of ty
numbers are 5 and 36 res Pectlvcly: The
the difference of their reciprocals js
1] =

36

(2)

(3)

CDICA) O | 4, V]
[« SN

(4)

Who was the self taught Indian
mathematical genius in 20® century ?

(1) Aryabhatta

(2) Harish Chandra

(3) Srinivas Ramanujan
(4) Shridharacharya

The area of four walls of g room is
660 m? and the length is twice its
width. If height of the roomis 11 m,
then area of its ceiling is

(1) 200 m?
(2) 75 m?
(3) 100 m2
(4) 150 m?


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

e

GET IT ON
Google Play

HIT - V/PART -V

. Gaiften
(1) ‘ﬁ?ﬁ?ﬁq@
(2), a"ltinq[aﬁﬁ
(8) W1 U i
(4) qomad A

IR el §

122. T AR & Wi &ty arere d 7

(1) &&= $uy
(3) et SaTe & S A

y

123. urierfoes a1 Fues
(1) 98 qA g

(2) IcuTEEh, I HIUTH
(3) ST T It

(4) S qun sifas wed
TR 1@ B

Le]

124.

(1) 23% (2) 23°S

iR 1
3) 23-S =
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wataRufiy
31t7a1 /| ENVIRONMENTAL STUDIES

Most Biodiversity is found in

(1) Flower’s Valley
(2) Dorang Valley
(3) Silent Valley

(4) Surma Valley

What is not true for LPG ?

(1) A clean fuel

(2) Methane emitting

(3) Burn with blue flame
(4) High calorific value

The components of the ecosystem are

(1) Plants and animals

(2) Producers, consumers and
decomposers

(3) Producers and consumers

(4) Biotic and abiotic substance

Tropic of Capricorn is

(1) 23%0 (2) 23°S
47

\e

1+

1° 1
4) 23-N
Il 235

I 23= S
®) 23;

Who coined the term “ecosystem

(1) Dr.R.D. Mishra
(2) Dr. Wittaker

(3) Dr. Odum

(4) Dr. A, G. Tansley

i g
S

G2
..-'—-'—-_"

The problem of water pollution with
Arsenic is maximum in

(1) Uttar Pradesh
(2) West Bengal
(3) Bihar Sved
(4) Madhya Prades
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Deccan of the Western Ghats in
ig drier because of

(1) low temperature effect

(2) pressure effect

(3) rain shadow effect

(4) high altitude effect

Ingj,

The Wildlife Protection Act wag
passed in

(1) 1960 A.D.

(2) 1975A.D.

(3) 1972 A.D.

(4) 1962 A.D.

Solar radiation per unit area receiveq
at the outer limit of atmosphere jg
known as

(1) Insolation

(2) Heat budget

(3) Solar constant

(4) Solar energy

Fundamental duties are adopted from
which country’s Constitution ?

(1) Germany

(2) USSR

(3) USA

(4) United Kingdom

In a food chain of grassland ecosystem,
the top consumers are

(1) Herbivorous

(2) Either carnivorous and
Herbivorous

(3) Bacteria
(4) Carnivorous
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132. The main atmospheric layer near the
surface of earth is

(1) Stratosphere

(2) lonosphere

(3) Mesosphere

(4) Troposphere

133. The Biodiversity Act was passed by the
Indian Parliament

(1) 11* May, 1972

(2) 11* December, 2002
(3) 16" October, 1990
(4) 10" December, 1980

134. Which one of the following agriculture

practices is eco-friendly ?

(1) Shifting cultivation

(2) Organic farming

(3) Cultivation of high yielding
varieties

(4) Growing plants in glass house

135. Acid rain is concerned with presence of
(1) Hydrochloric acid

(2) Boric acid

(3) Acetic acid

(4) Sulphuric acid

136. WWF stands for

(1) World Wide Fund

(2) World Watch Fund

(3) World Wildlife Fund i
(4) World War Fund |

137. The valley of fiowers is located in
(1) Jammu-Kashmir
(2) Uttarakhand
(3) Sikkim

(4) Himanchal Pradesh

[PT.
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¢ the following agencieg

Which orily concerned with the

ment of pollution in India 5
Green ’I‘ribun_al

(2) survey of Indlac WE-

@) C entral Watcr‘ ommission

(4) Central Pollution Control Boarg

measure
(1)

(Cotopaxi’ is an active volcano
situated in

(1) Sicily

(2) Rockies

(3) Andes

(4) Hawaii

Tsangpo river of Tibet in India is

known as
(1) Ganga (2) Indus
(3) Brahmaputra (4) Yamuna

The Pole star is
(1) North star
(2) West star
(3) East star
(4) South star

‘Project Tiger’ was started in India
(1) 1972 AD. (2) 1985 A.D.
(3) 1981 A.D. (4) 1973 AD.

Kanha National Park is located in whick
Indian State ?

(1) West Bengal

(2) Gujarat

(3) Tamil Nadu

(4) Madhya Pradesh

The Lucknow Pact of 1916 was made
between

(1) The Congress and the Muslim
League

(2) The Moderates and Extremists

(3) The British and the Indian

(4) The Hindu and the Muslims
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Where is the Wild Ass Sanctuary ?
(1) In Rajasthan

(2) In Bihar

(3) In Madhya Pradesh

(4) In Gujarat

Carbon dating refers to
(1)
(2)
(3)

(4)

Measurement of strength of rocks
All of these

Use of carbon for writing on white
board

Measurement of age of bones or
materials in ancient sites

The Constituent Assembly adopted
National Anthem on

(1) 20 January 1950

(2) 13 November 1949

(3) 21 May 1949

(4) 24 January 1950

Biomagnification is

(1) increasing concentration of a
toxic substance in the tissues
over time

all of these

to increase the size of picture using
computer

increasing size of organism

(2)
(3)

(4)

Which of the following is not a abiotic
component of biosphere ?

(1) Protein (2) Phosphorus
(3) Fungi (4) Soil

The headquarter of Green Peace
International is located in

(1) New York (2) Nzgasaki
(3) Amsterdam (4) Sydney
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